BEB/R KR

FESTRIM S FFER 1= 7 B LR

IN)—ERIE8H30E(K)~9HIH(E)
E=T, BAEHE—R (I EIEBEMSEET

BF
NE4E [F—Ls &EtE A | @ | 200m | 400m | 800m | 1500m | 5000m | 110mH | 400mH | 3000mSC | 4x100mR | 4x400mR | FE = Bk | = Bk | FENERE | = ER Bk | FastL 1% | AR [nvv—1%| DY

100m

1|=ZExE 138 4 5 6 7+3 2 2 6 1][8+7+4 [5+3+6 [2+5 8+2 4+5+8 [5+7+3 2[4+6+8

2| RAR R 114|6+8 8|6+2+3 8 7 2 6+8 6+7 7[6+4+8 7+5

3| PR fE 83 5+7  |3+8 |7+4 2+5+1 5 6 1 5 4+8+7 3 1 1

4 #E 74 6+4 8 5 1 4 6[3+4 3 6/6+3 3 2(6+4

5|%2501L 73 7 1 5[3+6 8 7 7 3 4+7 4 6 5

NES AN ES 68 7]|8+3 7+8+4 8+5+7 5 1 5

1|FaEEE 51 2 3 1]4+2+6 2 2[5+8 5 8 3

8|IE L 47[1+5 7 4 4 4 1 8+3+7 3

9| FFIL T 26 3 2 6/3+4 2 2 2 2
ZF

JEE [F—Ls SEtB A | &8 [ 200m | 400m | 800m | 1500m | 3000m | 100mH | 400mH | 4x100mR | 4x400mR | FEE= Bk | =SBk | EMEEK | S ERBK | FaAL 1T | RIS | /vv—18| ©YE

100m

1 =HERE 95 3 6+5+4 6+7 8+7 5+7 6|6+7+8 [4+6

2| #E 73 7 7 6+7+2 2 8 8 8+5 5+8

3| P& xR 66 6 5 8|8+4  |4+5+6 |4+6 7 3

S 58[8+5  [8+6 8 8[7+8

5|20 LA E 43 5(7+3+8 [5+8+7

6|FaEEEE 37 2 3 1 8 5+8 6 4

7| 36(4+1+3 4 6+3 8 7

8|f2&nLl 21 7 7 7




